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(*)sin26 = 2sin@cosd » cos20 =2cos’f—1=1-2sin’ 0
(A) 1+c0s200° +isin200° =1+ (2cos*100° —1) +2sin100° cos100°; =

2¢0s100°(cos100° +isin100°) = —2cos80° (—cos80° +isin80°) =
2¢0580°(cos80” —isin80") = 2¢cos80°(cos280° +isin280°) = Arz(6) =280° #

(B) —1+c0s200° +isin200° = —1+(1—-2sin*100°) +2sin100° cos100°; =
25in100°(—sin100° +icos100°) = 2sin100°(—cos10° —isin10°) =
25in100°(cos190° +isin190°) = Arz(8) =190° #

(C) 1+¢0s200° —isin200° =1+ (2cos*100° —1) —2sin100° cos100°; =
2¢0s100°(cos100° —isin100°) = —2cos80° (—cos80° —isin80°) =
2c0s80°(cos80” +isin80°) = Arz(0)=80" #

(D) 1-c0s200° —isin200° = 1—(1—-2sin*100") —2sin100° cos100°i =
25in100°(sin100° —icos100°) = 25in100° (cos10° +isin10°) = Arz(8)=10° #
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=3;1 = Z(xl.—lrlux)(yi+,uy)=90><%=3110 #
i=1

5 5
DD (XY, XM+ Y+ ) =3110 S Xy > x>y + g, =3110
i=1

i=1
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> x,p, +80x10+2x400+5x2x80=3110 = > x,, +800+800+800=3110

i=1 i=1

= ixl.yl. =710 #

i=1
5 5
(4) Z(‘xz _ﬂx)(yz _/Lly) = Z(‘xiyi _xill'ly _ylﬂ’c +1le#y) =
i=1 i=1

Zszxiy,. =Y X p, = Y Y, + Y g, = 710 -800 800 +800 = —90 #
i=1
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S)) Z(xi—ﬂx)z=Zx,-2—2ﬂxzxi+z,ux2= 30-2x2x10+5%x2° =10 #
i=1 i=1

i=1 i=1

Z(xi_lux)(yi_,uy) _90
(6) =5 = #
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(7)) y=ax+b ® u,=ap, +b » 80=-9x2+b ® b=98 = y=-9x+98 ##
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Q) %-2-2sin1200 =3
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A) Z(a,, +k-4")=2a +k-4") & k=-2 #
n+l n

@) (a,,-2-4")=2(a,-2-4"")

(a,-2-4")y=2(a, —2-4°)
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(a,—2-4%)=2(a,-2-4")

(a, —2-4°)=2(a, —2-4%)

(a,-2-4"")y=2(a, —2-4"7)

3) (a,-2-4""=2""(a,-2-4°) > a,1:%(2”+4”) HHH
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() D, Wl = fima, =0

§)) Zak Wat = €5, =a,+a,+a;,+..+a, H lims, =L

k=1

n—»0

= ]Elmak = hm(sk S, )= llimsk —Ilims,ﬁ1 =L-L=0 ###

(*) r}imak:O = iak W ? .

=1 1 1
1 §=) —=—+—+—+...
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2 s=—+()+(=+)+(=+—+=-+)+(=F+...+—)+..2 - +2(—)+4(o)+..
S=1TEHGHDTE o+ T 1()()()
= 1+(1)+1+ +... BERL
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*) (I+x+x°) =a, +ax+..+a,x’

1) £x=1 (1+1+1°)" =qa,+a,+..+a,, » 3" =a,+a, +..+a,,
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(2) %x:w = (1+W+W2)n:ao+a1w+a2W2+a3W3+a4W4+"'+a2nW2n

_ 2 2n
2 0=a,+aw+a,w +a,+a,w+..+a,w

D 0=(a,+a,+a, +..)+(a, +a, +a, +.)w+(a, +a, +a, +..)w’

2(a,+a,+as+..)=(a, +a,+a,+..)=(a,+as+ag+...) and 3" =q,+a,+...+a,,

a+a+a+..=3""
Dia+a+a+..=3"" #i##

a+a+a+..=3"

w

. 3
fi# .

(*) cos2x =cosx(sinx+|sinx|)

(1) 0<x<7m ® cos2x=cosx(sinx+sinx) = cos2x =sin2x
2 tan2x=1 = 2x=£,57” = ng,%” i

2) 7<x<27r = cos2x=cosx(sinx—sinx) & cos2x =0

o> ox= T o (LT
2 47 4
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